NAMING COMPOUNDS USING ROMAN NUMERALS

. Write the formula for the following binary com

nounds:

copper (I) chloride Q\l* (’_\\- _ Cuct tin (IV) oxide Shq" 0% = S.,\O:
(reduwad)
iron (I1) nitride Fz"' ‘Q'l' B F"..’S N, copper (11} fluoride (, ** £ Q"‘.F.;L
lead (1I) oxide '\3‘\_.,3* Dl' PLO chromium (11} phosphide Qs P3_ - Cr PD.
(ﬁrt&».ud) S
mercury (1) fluoride Psa;‘* F‘- - \..\J F;I. mercury (I) carbide \-\gh. C\'\' 5 [—\3‘_‘C
magnesium bromide ma“ /e = magr3 gold (1) chloride  Aw’* €\ - A C{
manganese (IV) sulfide m,\q“' S* - MnD5 | cobalt (I1) bromide Cc);u Bf“ : COBrg_
(Feduwd)
manganese (11) carbide mha" Cq' . W\nac_ phosphorus (V) nitride P°7 nJ - ?3‘\)5—
(redwesd )
gold (I) iodide  Au” AuT nickel (I11) phosphide Ny ** P> - N\, P
(redead )
iron (1I) bromide F(a* B P Fg '@ra copper (1) sulfide C_u?’* Sz' CV\S
(('-L&_u-ul}\)
aluminum sulfide  A\** ¢ . A, S, | zinciodide Zo* Y - 72 AT

2. Name the following binary compounds:

Cu:0 COPW(\) T

P20s ?\\Dﬁq\« a5 (\/) OX\AJL

HEC e Cumy (V) carbidn

SN T (1) i

AuBrs (% & (\\\3 bromide

€0 Cabedk (W) oyids

Mn; Ny MW\%NV\QSl (\\}\ i \)\r\ &

MnS: W\cmtxt\mg& (N) sl fi\y

ABN Sl mat e (oo comes

Pb:C | eud (\\5 Q&rl::lt\_ﬂ

\An\.\-ful)
FeF:  Teown (\\\ ‘F\u@déﬂ

SnPs

Aot iom Pros o As.

NiCl»

Nde (Y dlords

CuF (_:)Q{ll;r (\) "\:\\J\.O('\&SL

Hgo  maccury (W) onhe

NiBrs Ny % (\\\\ biamnidg

CoBr;

Cob oA (\“) Yo dx

Agl \yer \odide

CrS (Onfomiuwnn (\\\ s\ fids

FeN T row Q\\\ e s




